knh_V1024 Her g 30s_2024-06-02T04-

UTC 2024-06-02 04:23:35.65
Mean = 1072.487 .

o = 353.986 .

Exposure Time =30.0 s

« 1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 895.494
maxXx = mean + 2 0 = 1780.46
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knh_V1024 Her i 30s_2024-06-02T04-1

UTC 2024-06-02 04:25:05.99
Mean = 1123.946 .

o= 479.550 ,

Exposure Time =30.0 s

- 1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 884.171
maXx = mean + 2 o = 2083.045
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knh_V1024 Her_Irg_300s_2024-06-02T(
UTC 2024-06-02 04:26:18.97

Mean = 1264.798

o = 630.940

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 949.329

max = mean + 2 0 = 2526.678
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knh_V1024_Her g 30s_2024-06-02T04-

UTC 2024-06-02 04:41:18.81
Mean = 1069.439 .
o=477.606

Exposure Time =30.0 s

. 1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 830.636
max = mean + 2 0 = 2024.65
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knh_V1024_Her i 30s_2024-06-02T04-3

UTC 2024-06-02 04:42:48.29
Mean = 1119.028 .

o =480.921

Exposure Time =30.0 s

. 1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 878.568
max = mean + 2 o0 = 2080.87
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knh_V1024 Her _Irg_300s_2024-06-02T(

UTC 2024-06-02 04:44:00.98
Mean = 1257.351

0 = 635.542

Exposure Time =300.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 939.58
max = mean + 2 0 = 2528.434
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knh V1024 Her g _30s_2024-06-02T04-

UTC 2024-06-02 04:54:57.89
Mean = 1068.591 T .
0=494.780

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 821.201
max = mean + 2 o = 2058.151
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knh V1024 Her i 30s_2024-06-02T04-5

UTC 2024-06-02 04:56:27.27
Mean = 1108.676 g

0 =491.227

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 863.062
maXx = mean + 2 o = 2091.13
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knh V1024 Her g 30s 2024-06-02T05-
UTC 2024-06-02 05:08:41.98

Mean = 1067.930 g

o = 487.465

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 824.197

max = mean + 2 0 = 2042.859

750 1000 1250 1500 1750 2000




knh V1024 _Her i 30s_2024-06-02T05-1

UTC 2024-06-02 05:10:30.07
Mean = 1114.644 g

o = 480.194

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 874.546
max = mean + 2 o = 2075.032
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knh V1024 Her g 30s 2024%06-02T05-
UTC 2024-06-02 05:26:35.82

Mean = 1066.878 :

o = 491.952

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 o = 820.902

max = mean + 2 0 = 2050.783

750 1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-02T05-2

UTC 2024-06-02 05:28:30.04
Mean = 1113.222 :

o = 483.226

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 871.609
max = mean + 2 o = 2079.674
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knh V1024 Her g 30s 2024-06-02T05-

UTC 2024-06-02 05:46:32.28
Mean = 1061.834 :

o = 492.874 ¥
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 815.397
maXx = mean + 2 o = 2047.582
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knh_V1024_Her i_30s_2024-06-02T05-4

UTC 2024-06-02 05:48:02.71
Mean = 1107.129 .

o = 490.896 :
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 861.681
max = mean + 2 g = 2088.922
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knh_V1024 Her g 30s 2024-~06-02T06-

UTC 2024-06-02 06:02:35.85
Mean = 1063.375 ;

o = 489.489 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 818.63
max = mean + 2 0 = 2042.352
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knh_V1024 Her i 30s_2024-06-02T06-0

UTC 2024-06-02 06:04:30.04
Mean = 1106.586 :

o = 483.438 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 864.867
maXx = mean + 2 o0 = 2073.461
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knh_V1024 Her g 30s 2024-06-02T06-

UTC 2024-06-02 06:20:36.07
Mean = 1062.601 .
o=494.721 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 815.241
maXx = mean + 2 o0 = 2052.043
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knh_V1024 Her_i_30s_2024-06-02T06-2

UTC 2024-06-02 06:22:30.06
Mean = 1115.539 ;

o = 483.825 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean -0.5 0 = 873.627
max = mean + 2 o = 2083.189
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knh V1024 Her g 30s 2024-06-02T06-
UTC 2024-06-02 06:38:35.81

Mean = 1061.131 :

o =491.372 .

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 g = 815.445

max = mean + 2 0 = 2043.874
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knh_V1024_Her i_30s_2024:06-02T06-4

UTC 2024-06-02 06:40:30.08
Mean = 1114.623 :

o = 486.404 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 g = 871.421
max = mean + 2 g = 2087.43
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knh V1024 Her g 30s 2024-06-02T06-
UTC 2024-06-02 06:50:28:42

Mean = 1061.951

o = 485.524 e

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean -0.5 0 = 819.189

max = mean + 2 0 = 2033.0

750 1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-02T06-4

UTC 2024-06-02 06:51:57.80
Mean = 1109.156

o = 489.352 T
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 864.48
max = mean + 2 o = 2087.86
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knh_V1024 Her_g 30s 2024-06-02T07-
UTC 2024-06-02 07:05:00.06

Mean = 1058.428

o = 486.256 "

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 g = 815.3

max = mean + 2 o = 2030.94

1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-02T07-C

UTC 2024-06-02 07:07:00.04
Mean = 1104.543

o = 494.324 R
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 857.381
max = mean + 2 o = 2093.191
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knh_V1024 Her g 30s 2024-06-02T07-
UTC 2024-06-02 07:23:00.07

Mean = 1061.346

o = 488.098 T e

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

Jmin = mean - 0.5 0 = 817.297

max = mean + 2 0 = 2037.541

1000 1250 1500 1750 2000




knh_V1024_Her i 30s_2024-06-02T07-2

UTC 2024-06-02 07:25:00.08
Mean = 1097.343 '
o = 487.995 e
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 0 = 853.345
max = mean + 2 0 = 2073.334
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knh_V1024 Her_g_30s_2024-06-02T07-
UTC 2024-06-02 07:41:00.06

Mean = 1060.815

o = 486.840 "

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

.min = mean - 0.5 0 =817.395

max = mean + 2 0 = 2034.495
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knh_V1024_Her i 30s_2024-06-02T07-4

UTC 2024-06-02 07:43:00.12
Mean = 1094.953

o=481.713 "
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 854.096
max = mean + 2 0 = 2058.378
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knh_V1024 Her_g 30s 2024-06-02T07-
UTC 2024-06-02 07:59:00.11

Mean = 1060.350

o =476.405 i

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean -0.5 0 = 822.148

max = mean + 2 0 = 2013.16

1000 1250 1500 1750 2000




knh_V1024 Her i 30s_2024-06-02T08-0

UTC 2024-06-02 08:01:00.10
Mean = 1094.149

o=477.301 L
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 855.498
max = mean + 2 0 = 2048.751
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knh_V1024 Her_g 30s 2024-06-02T08-
UTC 2024-06-02 08:17:00.10

Mean = 1061.403

o = 489.554 "

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit

min = mean - 0.5 0 = 816.626

max = mean + 2 0 = 2040.512

1000 1250 1500 1750 2000




knh_V1024 Her_i_30s_2024-06-02T08-1

UTC 2024-06-02 08:19:00.08
Mean = 1086.022

o =482.273 "
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 o0 = 844.886
max = mean + 2 0 = 2050.569
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knh_ V1024 Her g 30s_2024-06-02T08-

UTC 2024-06-02 08:35:00.070
Mean = 1066.428

o =481.913 " .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 825.471
max = mean + 2 0 = 2030.253
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knh_V1024 Her r_30s 2024-06-02T08-3

UTC 2024-06-02 08:36:00.080
Mean = 1081.869

o =561.414 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean -0.5 0 = 801.162
max = mean + 2 0 = 2204.698
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knh_ V1024 Her i 30s_2024-06-02T08-3

UTC 2024-06-02 08:37:00.090
Mean = 1085.980

o=475.671 "
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 848.144
max = mean + 2 0 = 2037.322
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knh_ V1024 Her g 30s_2024-06-02T08-

UTC 2024-06-02 08:53:00.110
Mean = 1067.886

o = 482.995 o
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 826.389
max = mean + 2 0 = 2033.876
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knh_V1024 Her r_30s 2024-06-02T08-5

UTC 2024-06-02 08:54:00.100
Mean = 1085.842

o =572.000 T
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 799.842
max = mean + 2 0 = 2229.843
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knh_ V1024 Her i 30s_2024-06-02T08-5

UTC 2024-06-02 08:55:00.080
Mean = 1093.220

o= 476.353 T8
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 o0 = 855.044
max = mean + 2 o = 2045.926
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knh_V1024 Her_g 30s 2024-06-02T09-

UTC 2024-06-02 09:11:00.100
Mean = 1066.176

o=477.615 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 827.368
max = mean + 2 0 = 2021.406
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knh_V1024 Her r_30s 2024-06-02T09-1

UTC 2024-06-02 09:12:00.080
Mean = 1084.783

o =567.845 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 800.861
max = mean + 2 0 = 2220.472
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knh_V1024 Her_i_30s_2024-06-02T09-1

UTC 2024-06-02 09:13:00.100
Mean = 1101.075

o =478.942 i
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 0 = 861.604
max = mean + 2 0 = 2058.96
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knh V1024 Her g 30s 2024-06-02T09-
UTC 2024-06-02 09:29:00.090

Mean = 1070.513

o=476.566

Exposure Time =30.0 s

1MHz High SenSitivity 16-bit

min = mean - 0.5 0 = 832.23

‘max = mean + 2 0 = 2023.645

750 1000 1250 1500 1750 2000




knh_V1024 Her r_30s 2024-06-02T09-3
UTC 2024-06-02 09:30:00.100

Mean = 1090.734

o =567.350

Exposure Time =30.0 s

1MHz High SenSitivity 16-bit

min = mean - 0.5 0 = 807.059

‘max = mean + 2 0 = 2225.433

750 1000 1250 1500 1750 2000




knh V1024 Her i 30s 2024-06-02T09-3
UTC 2024-06-02 09:31:00.120

Mean = 1103.887

o= 477.451

Exposure Time =30.0 s

1MHz High SenSitivity 16-bit

min = mean - 0.5 o0 = 865.162

‘max = mean + 2 o = 2058.789

750 1000 1250 1500 1750 2000




knh_V1024 Her_g_30s_2024-06-02T09-

UTC 2024-06-02 09:47:00.080
Mean = 1077.500

o=474.921

Exposure Time =30.0 s

1MHz High SenSitivity 16-bit
min = mean - 0.5 0 = 840.04
maXx = mean + 2 0 = 2027.341
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knh_V1024 Her r_30s 2024-06-02T09-4

UTC 2024-06-02 09:48:00.060
Mean = 1099.377

o = 564.884

Exposure Time =30.0 s

1MHz High SenSitivity 16-bit
min = mean - 0.5 0 = 816.935
‘max = mean + 2 0 = 2229.146
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knh_V1024_Her i 30s_2024-06-02T09-4

UTC 2024-06-02 09:49:00.120
Mean = 1117.319

o = 480.903

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
‘min = mean - 0.5 0 = 876.868
maXx = mean + 2 o = 2079.126
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2000




knh_V1024 Her g 30s 2024-06-02T10-

UTC 2024-06-02 10:05:00.120
Mean = 1085.872

o = 467.096

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 0 = 852.325
max = mean + 2 0 = 2020.064
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knh_V1024 Her r_30s 2024-06-02T10-(

UTC 2024-06-02 10:07:33.229
Mean = 1110.067

o = 558.562

Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
min = mean - 0.5 ¢ = 830.786
max = mean + 2 0 = 2227.191
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knh_V1024_Her i 30s_2024-06-02T10-0

UTC 2024-06-02 10:08:20.039
Mean = 1137.951
o=476.444

Exposure Time =30.0 s
1MHz High Sensitivity 16-bit
.min = mean - 0.5 o0 = 899.729
max = mean + 2 o = 2090.839
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knh_V1024 Her_g 30s 2024-06-02T10-

UTC 2024-06-02 10:23:00.070
Mean = 1092.080

o = 465.511 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 g = 859.324
max = mean + 2 0 = 2023.102

1000

1250

1500

1750

2000




knh_V1024 Her r_30s 2024-06-02T10-7

UTC 2024-06-02 10:24:00.120
Mean = 1113.463

o =551.664 "
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 ¢ = 837.631
max = mean + 2 0 = 2216.791
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knh_V1024_Her i 30s_2024-06-02T10-2

UTC 2024-06-02 10:25:00.080
Mean = 1147.530

o=477.713 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 ¢ = 908.674
max = mean + 2 0 = 2102.957
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knh_V1024 Her_g 30s 2024-06-02T10-

UTC 2024-06-02 10:41:00.110
Mean = 1098.776

o= 463.673 g
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 0 = 866.94
max = mean + 2 0 = 2026.123
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knh V1024 Her r 30s 2024-06-02T10-4

UTC 2024-06-02 10:42:00.120
Mean = 1117.945

o =562.680 "
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 0 = 836.605
max = mean + 2 0 = 2243.306
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knh V1024 _Her i 30s_2024-06-02T10-4

UTC 2024-06-02 10:43:00.130
Mean = 1143.688

o = 480.195 .
Exposure Time =30.0 s

1MHz High Sensitivity 16-bit
.min = mean - 0.5 0 = 903.591
max = mean + 2 o0 = 2104.079

750

1000

1250

1500

1750

2000




knh_V1024 Her_g_30s_2024-06-02T10-
UTC 2024-06-02 10:59:00.10
Mean = 1148.075
o = 458.708 .
Exposure Time,=30.0 s
1MHz High Sensitivity 16-bit
.Min = mean-0.5 0 =918.721
max = mean + 2 0 = 2065.491
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knh_V1024_Her i 30s_2024-06-02T11-0

UTC 2024-06-02 11:01:00.11
Mean = 1183.042

o= 479.300 *
Exposure Time,=30.0 s

1MHz High Sensitivity 16-bit
.Min = mean - 0.5 0 = 943.392
maXx = mean + 2 0 = 2141.643
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1750

2000




